

## **ABC Bid Data**

STATEWIDE STRIPING (TURNPIKES)

41099

NON-FEDERAL

STATEWIDE STRIPING (TURNPIKES) PROJECT:

**STATE PROJECT NUMBER:** 41099

FED. PROJECT NUMBER: **DATE BIDS OPEN:** February 01, 2018, SCOPE OF WORK:

NON-FEDERAL

Statewide Striping

**COMPLETION DATE:** LOCATION:

August 31, 2018

**Summary of Bidders** 

Awarded To: L & D SAFETY MARKINGS

CORP

304 EAST MONTPELIER RD BARRE, VT 05641-8373

Amount: \$326,119.74

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

Contractor	Bid Amount	Rank
L & D SAFETY MARKINGS CORP 304 EAST MONTPELIER RD, BARRE VT 05641-8373	\$326,119.74	А
HI-WAY SAFETY SYSTEMS, INC. 9 ROCKVIEW WAY, ROCKLAND MA 02370	\$386,299.10	В
MARKINGS INC 30 RIVERSIDE DRIVE, PEMBROKE MA 02359	\$424,336.01	С

				PS&E		L & D SAFETY MARKINGS CORP 304 EAST MONTPELIER RD BARRE, VT 05641-8373		HI-WAY SAFETY SYSTEMS, INC. 9 ROCKVIEW WAY ROCKLAND, MA 02370	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

## Items

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,500.00	\$3,000.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	117,023.00	\$0.07	\$8,191.61	\$0.08	\$9,361.84	\$0.09	\$10,532.07
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	1,934,844.00	\$0.09	\$174,135.96	\$0.10	\$193,484.40	\$0.12	\$232,181.28
632,0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	144,245.00	\$0.30	\$43,273.50	\$0.30	\$43,273.50	\$0.35	\$50,485.75
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	10,000.00	\$0.10	\$1,000.00	\$0.30	\$3,000.00	\$0.01	\$100.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00

Totals:	\$306,601.07	\$326,119.74	\$386,299.10
Alt. Totals:			
Totals:	\$306,601.07	\$326,119.74	\$386,299.10

				F	°S&E	30 RIVER	INGS INC ISIDE DRIVE KE, MA 02359		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

## **Items**

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$2,500.00	\$5,000.00	\$5,000.00	\$10,000.00	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	117,023.00	\$0.07	\$8,191.61	\$0.10	\$11,702.30	
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	1,934,844.00	\$0.09	\$174,135.96	\$0.14	\$270,878.16	
632,0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	144,245.00	\$0.30	\$43,273.50	\$0.39	\$56,255.55	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	10,000.00	\$0.10	\$1,000.00	\$0.25	\$2,500.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	

Totals:	\$306,601.07	\$424,336.01	
Alt. Totals:			
Totals:	\$306.601.07	\$424.336.01	



## **PS&E Comparison**

STATEWIDE STRIPING (TURNPIKES) 41099 NON-FEDERAL

\$306,601.07

\$19,518.67

				A-Bide	der	PS8	kΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$0.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$500.00	\$1,000.00	\$1,500.00	\$3,000.00	(\$2,000.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	(\$1,000.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	117,023.00	\$0.08	\$9,361.84	\$0.07	\$8,191.61	\$1,170.23
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	1,934,844.00	\$0.10	\$193,484.40	\$0.09	\$174,135.96	\$19,348.44
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	144,245.00	\$0.30	\$43,273.50	\$0.30	\$43,273.50	\$0.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	10,000.00	\$0.30	\$3,000.00	\$0.10	\$1,000.00	\$2,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

Monday, February 5, 2018 Page 4 of 4

\$326,119.74

Total: